0.0

/ - f
- 04m | 0,4m 05m

M3x24h !=

)=

: S /ASTMIUSA
/’//’ \ \\\\\
B N <
e - T AN
4 -7 ~< N
e - ~o ~
4 // \\\ \\
// /// \\ \\
EN: 13 m?
/ ASTM/USA: 19 m2 ~\ &
/ ’ N
/
/ /// 2,] 5 m \\ \\\ 3
/ / d
! / ‘\‘ ‘\\ (@)
{ / ! ' Y
I | ) i
4,7 m | -
| a1 1
I
\\ \\ 0,67 m o //’ /I
\\ \\ - - i
\\ \\\ /// // E
\\\ \\\ // // w~
N N S —_
\\ N e //
\ \\ // ,
N ~ e e
\\\\ S - ’///// /// V
\\\ ~— == — i
~o _-
| S R
2m
_15m — -
- om -
1.0m

D) o

Varje vecka
%\ 4 Every week

" Jede woche
4

Chaque semaine

Varje sédsong
Every season
Jedes Jahr
Chaque saison

=] >C20/25
S1-S3 2.12
NR. |Description MA Item Number | Qty
1 895 x 667 x 355 mm 8027296 1 I I Q GS ir;;eEé)sggEDEN
2 M12 X 400 mm 8027432 4 www.hags.com
3 |M6M-8 M12 321503 | 8 || Flipper
4 [286x217 mm soz7281 | 1 || 8027297
5 |@13x19,5x2,5 mm 325104 | 4 || 1(2)
6 |Lock Nut M12 8042811 4 HB |S=>|EF |2015-07-03 [2




T ad Z 4 ...q
R A ',<:. A'A 8
Al . ~

<7,~A.~,'. .4.

1. H '4 H H )

B /AN \ I
: -7 L ;
® 500
3

2 = @
— .
.4 < :
. n r a
. 4 1 11 <
e . )
a” I 7 . ‘2 j
o a
. Il - .
a C
4| [ 4 4 N
. < o . 4 < H ]
Z]Zj \X\& a
a0 <’

NR. |Description MA Item Number | Qty
1 895 x 667 x 355 mm 8027296 | 1 HAGS Yisloyszo-
2 |M12 x 400 mm 8027432 | 4 wvw-hags.com
3 |M6M-8 M12 321503 | 8 || Flipper
4 [286x217 mm sozr2s1 | 1 || 8027297
5 |@13x19,5x2,5 mm 325104 | 4 || 2(2)
6 |Lock Nut M12 8042811 | 4 HB [S®>[EF [2015-07-03 |2




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Drawing View8
	Drawing View20
	Detail View A (1 : 5)


